
FIAT DUCATO
2.3 JTD

from 2012

(FRONT EVAPORATOR)

FIA 20233



-1- 07.07FIA 2001

INSTALLATION  INSTRUCTIONS

REFRIGERANT CHARGE
FOR 134a

0.650 ± 0.050 kg

FOR SERVICE USE

OIL SP-10

AIR CONDITIONER

CITROEN JUMPER
FIAT DUCATO
PEUGEOT BOXER
FROM  2006

ORIGINAL



07.07FIA 2002

EVAPORATOR INSTALLATION

-2-

FIG.1

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006

REMOVE PARTS IN SEQUENCE OF NUMBERS

ORIGINAL

13

16
15

14

17

11

12

10

7

9

8

2

1

4

5

3

6



07.07FIA 2003

EVAPORATOR INSTALLATION

-3-

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006 ORIGINAL

REMOVE

FIG. 2

REMOVE

A

VIEW  A
CUT OPENING
AS SHOWN
(Ø24mm)

FIG. 3



DISCARD

07.07FIA 2004

EVAPORATOR INSTALLATION

-4-

FIG. 4

CUT AWAY
AS SHOWN

FIG. 5

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006 ORIGINAL

110

82
35

30

VIEW  B

B



COIL

07.07FIA 2005 -5-

FIG. 6

2 SOCKET HEAD
BOLTS M5x40

BLOCK VALVE
(FLANGE)

CLAMPING
PLATE (004)

FIG. 7

TUBE ASSY.

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006

EVAPORATOR INSTALLATION
ORIGINAL



07.07FIA 2006

EVAPORATOR INSTALLATION

-6-

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006 ORIGINAL

FIG. 8

CUT OPENING
HEATING BOX

DRAIN HOSE
1/2”x30cm



07.07FIA 2007

EVAPORATOR INSTALLATION

-6A-

FIG. 10

FIG. 9

2 SCREW 4x12

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006

NUT

STARWASHER

THERMOSTAT
WITH CAPILAR

THERMOSTAT
BRACKET

ORIGINAL

�

A/C SWITCH

CLIP

DRILL Ø20mm



09.12FIA 1637

ENGINE KIT INSTALLATION
Auto Air

Conditioning

ORIGINALORIGINAL

FIAT DUCATO 2.3 JTD from 2012 (EURO 5) 

V 
B

EL
T 

13
x8

90

C
O

M
P.

D
.P.

I.

-7-

FIG.9-10

ENGINE KIT P.Nº. 2000-307

ID
LE

R
PU

LL
EY

C
O

M
PR

ES
SO

R

B
R

A
C

K
ET

SU
PP

O
R

T

C
O

M
PR

ES
SO

R
B

R
A

C
K

ET
D

R
IV

E
PU

LL
EY

SH
O

U
LD

ER
B

O
LT

EC
C

EN
TR

IC

4 
BO

LT
S 

M
8x

45
+S

TA
RW

AS
H

ER
S

2 
BO

LT
S 

M
10

x1
.2

5x
35

+L
O

C
KW

AS
H

ER
S

BO
LT

 1
/2

”N
F 

x 
1.

1/
4”

SU
N

KH
EA

D
 B

O
LT

 M
8x

35

+L
O

C
KW

AS
H

ER
 1

/2
”

2 
BO

LT
S 

M
10

x1
30

+4
 W

AS
H

ER
S

3 
BO

LT
S 

M
8x

40
+L

O
C

KW
AS

H
ER

S

+2
 L

O
C

KW
AS

H
ER

S
+2

 N
U

TS



RECEIVER
DRIER

TRINARY SWITCH

RECEIVER
DRIER BRACKET

FIG. 13

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006

-8- 07.07

RECEIVER DRIER INSTALLATION

FIA 2010

OR IGI NAL

BOLT M6x25
+LOCKNUT

2 BOLTS M8x15
+WASHERS
+LOCKWASHERS



FIG. 14

FIAT DUCATO 2.3 JTD from 2006

-9- 10.07

REFRIGERANT HOSES INSTALLATION

FIA 2018

OR IGI NAL

HOSE 1/2”x150cm

HOSE 13/32”x110cm

HOSE 5/16”x110cm

HOSE 5/16”x60cm

CLAMPING PLATE
(0035)

SOCKET HEAD
BOLT M6x20

BLOCK VALVE
(FLANGE)



FIAT DUCATO 2.3 JTD from 2006

TO COMPRESSOR

WIRE HARNESS

(+)
TO BATTERY

RELAY
CHANGE OVER

-10- 10.07

REFRIGERANT HOSES INSTALLATION

FIA 2019

OR IGI NAL

FIG. 15

FIG. 16

(+)

2 SCREWS 5x12

ELECTRIC SYSTEM
PLASTIC COVER

RELAY

2 SCREWS
5x12

ELECTRIC
SYSTEM
BRACKET

2 SCREWS
5x12

FUSE 10A

ORIGINAL BOLT

TO TRINARY SWITCH

SEE FIG.16



BAT.

10A
FUSE

R
ED

+

R
ED

07.07FIA 2013

WIRING DIAGRAM

COMPRESSOR

87
86 85

30

BL
AC

K

R
ED

BLACK

RELAY

A/C SWITCH

RED WIRE
CONNECTOR

ORIGINAL BLACKORIGINAL GREY/YELLOW YELLOW BLACK

ILLUMINATION (+)

RED WIRE
CONNECTOR

RED

BL
U

E

YE
LL

O
W

BR
O

W
N

R
ED

BL
U

E

(+)

-11-

FIG. 17

R
ED

87
86 85

30

RELAY

R
ED

(+)

O
R

IG
IN

AL
 G

R
EY (–

)

BLUE WIRE
CONNECTOR

GREY

FIRSET SPEED
FOR BLOWER SWITCH PIN 2

THERMOSTAT

FUSES & RELAY
BOX

TRINARY
SWITCH

BL
U

E
BL

AC
K

BL
AC

K
BL

U
E

(+)

BL
AC

K

(+)

YE
LL

O
W

G
R

EE
N

PI
N

K

VIOLET
PI

N
K

(+
)

RELAY
CHANGE

OVER

3 4

1 2

CITROEN JUMPER, PEUGEOT BOXER, FIAT DUCATO
from 2006 ORIGINAL

R-
 10

 K
 Ω

2913 54

ENGINE BOSCH COMPUTER
BLACK PLUG

2212

R-
 27

0 Ω
87

86 85
30

BR
O

W
N

R-
 51

0 Ω

R-
 47

0 Ω
R-

 43
0 Ω

BLUE

(–)

(–)

(–
)

5V

5V

10A
FUSE

R
ED

+




